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And it is written; ‘However on the first day you shall eliminate’

OVERVIEW

"X cites two 0’2100 which (seemingly) conflict with each other. One 100 states'
02°N22 R¥MY K7 MRW 27° nvaw (indicating that yni is 70K for a complete seven day
period) and the other states® 02°nan MRW Mawn NMWRIT 0172 X (indicating that on
the first day it is partially °mn). There is a dispute between >"w1 and m501n how X
N°2WN PRI 2172 indicates that it is partially W27 2172 0.

*

— 99 INYPNT Y991 NYAWAY PYNIN B2 2NNT DIVNPH YIS
>""w9 explained the contradiction as follows, since the 7710 obligates to eliminate
the y1 on (during) the first day (the 770 writes 1N 2wn NWRAT 01°2), this implies

that v is permitted on part of the first day. yn is permitted on the part of the day before
we eliminate it. If yn would be moR the entire first day, the 7710 would have commanded us to
eliminate it before the first day; not on the first day.

moon disagrees with *"wA:
— 3NN NIYAN INGAVYN XNT PNHYY 139297 NI PN)

And the >'""9 disagrees with this explanation; for yn’awn refers to burning -
—HIDIN INND NIN 19NV 2NN M8 XD

And the ;770 did not command to burn y»n before the MOR;77 11 begins;® only

after the prohibition for possessing y»n begins would the 7Mn command us to burn it.
Therefore there is no proof from 1n*2awn PWRIT O3, that ynm is partially 901 on WX O,

mooIn has an additional difficulty with *"w=%s:

Tv,20 (x2) mnw.

2 30,2 (%2) Maw.

3 See previous XN»MRTA 7"7 Moo, If 1°awn would refer to 9101 (as >"WwM maintains 910°22 7"72) then it would be
understood that if we are to be WX 01°2 van this indicates that part of JwX27 21 must be 1N, since one cannot be
N0 TAT NRY yan Yvan. However Mooin maintains that 1n°awn refers to 77v27.

4 777 1 maintains ("172 X,XD 7p?) that 79w X9R a0 w02 PR. On A0 ' ,2,2° A7 qualifies this ruling and states
R (that 79w XOR ¥ 1302 PR) only 1303 nywa XOw, however 111¥°2 nywa then 927 932 1naws. According to
*"wA there, X7w 71"73, the time of 17’2 nywa X5Ww, means during Nww 7vw (when yan is only 732771 70K) and nywa
MY means after Myw ww passed (when y»i is XN»MRT MoK). This is in accordance with s™"w opinion here that
the w27 takes place (Xn>18771) M7 1. However nvoin there *nn°X 7"72 maintains the opposite, that nywa xow
179302 is after ww and 111302 nywa is during the Nww 7yw, in accordance with his view here that ynn now is a1 K>
MO, See X"wAnn.

3 There is no reason to burn y»n before 10> 1a1. The owner can still use it (eat it; sell it to a M3, etc).
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— PN IRY 7598 D12 A NEPN PHRUN PYNT DT MHIPNUNI IX T
And furthermore if the indication of the words 1WwX= 2y signify that y»n is
partially an (as >"w1 maintains), why is it necessary for the X723 later to utilize

"mo1 IN', to teach us that part of the day is 2mm; it is self evident according to *"w~ from the
words WK ara?!°

mooIn finds a partial vindication of >"w7°d concerning this last question:
— 999Y NN 7YV D/NANA NN T/RT DIVIPN YIIY Y NaWwrDY 1)

However, according to second interpretation that >"w= explained there
concerning P9 X, that the word IR is the equivalent of the word yn if you use the

permutations of ¥''t2 ©''1N, etc.; then the interpretation is understood. If not for the word 7x
we would know from PwX77 012 that part of 7" 1s °nm; however we would not be certain to
what extent it is W01, The 770 writes X which is the equivalent of y11 (meaning half) to indicate
that half the day is °n» (up to mxm) and half the day is M0R (beginning from mxr). This answers
the second question. MdOIN first question on *"wA, however, still remains.

mooin offers his interpretation:
— 3Yr9TP NPT NINNT PN 129299 NN

And it is the view of the >''% that X interprets NWXI7 012 IX to mean 7',

because the 205 is unnecessary. There is no contradiction between the two 2°p109; rather
the 109 of 12awn WX o2 IX is redundant, we already know that it is necessary to eliminate
ynn from the 0o of X¥n* X7 MXw o°n° nvaw. The (only) reason the 77N writes WX 0192 X is to
teach us that v is 70X a day before; on the fourteenth.

mooin offers an alternate explanation that indeed the two 0°?105 contradict each other:

97599 PYN IR 19PY 1YWY IR 231979 I
And in addition one can say; the contradiction is based on the fact that the word
TR was written in the P09, and later we interpret it to mean P%n I8; indicating that

® The X »3 on X,7, after it accepted that 1WX"71 o012 X refers to 7", asks that perhaps the Mo°X begins on 7" in the
morning; to which the X3 responds P21 X. Initially *"w1 there & 7"72 explains that X is a VW, meaning that only
part of WwxA7 0 (which is 7") is MOR but not the entire day. Mmoo here asks that the P71 X is unnecessary, 012
R itself teaches us that only part of the day is MoK; otherwise it would be necessary to eliminate the y»n prior to
the beginning of the day (according to *"w").

7 y"va 0"nX is a certain permutation of the 1"X that any letter can be exchanged for another which is seven (or a
multiple of seven) places away from it in the 2"X. The 17 and the & are seven places away so they are interchangeable
(making the X of X into a 'n); the 2 and the ¥ are seven places away making them interchangeable (making the 7 of
IR into a ) thus X becomes yri.

8 See ‘Thinking it over’.

? According to m9o1n the contradiction is (not from MWXI7 012 as >"w1 maintains but rather) from [p1] IX. It seems
that »ax knew of pon IX; however the X713 did not realize it until later in the discussion.
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the WX O is partially 20, this is in contradiction with the 105 of "1 o°% nvaw.

SUMMARY

According to *"wA there is a 77°n0 between the 105 of A1 MXW 2 nyaw (which
indicates that ynr is 7vaw %5 70X) and the 105 of "3 Pawn WK 12 I8 (which
indicates that y7n is partially 70 on the first day).

mooIn disagrees and maintains there is no 77°N0 because the 1n°2wn takes place on
the first day as soon as the y7%n becomes MOX.

MHOIN maintains that the 7105 of NWRAT 012 X 1s redundant to teach us the MO°X on
the fourteenth.

Alternately; pn IR (which teaches us that the M0 on W& 012 is only for half
the day), creates a contradiction with the ?109 of o> nyaw.

THINKING IT OVER

Moo maintains (in his first explanation) that the 105 of 1n*awn NWKRIT 0172 IX 1S
redundant (in order to teach us the M0°X on the fourteenth).!® It would seem
however that the P10 of 1\n°2wn is necessary to teach us (according to N»dOIN) that
MR JaT R there is a 19w 21n; how can MO0 maintain that it is
unnecessary?!!!

10 See footnote # 8.
1 See 219 (and 19102 W"R77T MOOIN).
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